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Folha 1: soluções

1.(a) (f · g)(t) = 2t2 + t + 1 + t2

(t+1)(t2+1)

1.(b) (f × g)(t) =
(

t2

t+1 , t3−t2+1
t2+1

,−t3 − t2 − 1
)

2. Df = {(x, y, z, w) ∈ R4 : z 6= 0, w 6= 0,−√6 ≤ xy ≤ √
6}

9. Só a rećıproca é falsa. Contra-exemplo: f(x) =
{

1, x ∈ Q
−1, x ∈ R\Q

10. Só a rećıproca é falsa. Contra-exemplo: f(x) =
{

1, x ∈ Q
−1, x ∈ R\Q

17. Não existe lim(x,y)→(0,0) f(x, y).

18.(a) Não existe lim(x,y)→(0,0) f(x, y).

18.(b) lim(x,y)→(0,0) f(x, y) = 0.

18.(c) Não existe lim(x,y)→(0,0) f(x, y).

18.(d) lim(x,y)→(0,0) f(x, y) = 0.

18.(e) lim(x,y)→(1,2) f(x, y) = 1.

20. É falsa. Contra-exemplo: f(x) = xy
x2+y2

21. Sim (cf. T 21.5.1)


